Mﬂsmzaf 1TAI-1 /:?—gl.l?lF
MZeES A o 3x (39&1) HoES F= (WE) = X
NNl J (O7 - 35=209: 20 06 :20=208:00
WSl P O8:10=09:50 08 . 00=09:45
NI\WC2Y ) | 0OS: 40=>10: 20 08:10=09:50
09:50=11 :30
N/A\slel J 10 :2656=212:10 10:05=11 :50
INNNVYYEl P (10 : 35=12:20
INNNIlM P 1215214 :00 11 :30=213:10
N\l J 12 :30=214:15
SNA 16 12:55=>14: 35
N/ASCON J 13:55=215:40 14 . 552516 :35
SNA 18 14:55=516: 35
NPl J  15:20=>17:15
WSV RS P 17 : 252519 : 05 | NANGEY, 17 :45=>519:30
NJAANGCY:m J | 17 :20=>19 : 10  PR\WiWeY:v4 17 :6565=519:40
JAL 639 19:10=>20:50
NJAANGECIsl J 20 :10=21 : 55 | AN:YaY:ke] 19:05=220:50
\\V\WslsO P 20 :30=>22:15
» & & e & & ¢ e & & & & e ¢
MeEg iR o>AR (B fzeEa AR (B = feA
ANA 522 = o7 35=208:40 07:10=208:10
N/A\RZCiso] J ([ O7 - 45=08 : 50 | pameeisel J O7 35208 :45
ANA 524 08 :50=09 :55 IWVW¥syc®m P 09:20=10:30
N/AARzeisEd J | O9 1 20=10 : 25 | VA7) 10:40=>11 :55
NJA\RRCISISO) | 1 0 :45=212 10 |pAmeEeisisy) J | 10:20=11 : 30
N/AAIZCislel J | 12 :00=>13: 05  pARCiSicER == 12 :50=214 .20
ANA 1626 12: 25213 : 40 | NI 13:45=>15:00
ANA 1628 15 :30=216 : 45 | IN-Neyu4 16 :40=>17 :50
I\l P | 17 :20=>18 25 |pma\meeeisiel J |17 :25=>18:35
ANA 528 18 :25=190: 35 |mAREEEEEY J |19 :35=220:45
JAL 2392 d 19:O5=>20:20 ANA 529 P 19:40=>20:50
] (@ ] (\ (@ i@ @
heES AFDA R SZ2nE m¢5zl heEs 45% SEERIVR > BEA

JAL 4402 09 :05=10 : 25| NNV O7:00=08:25
JAL 4404 11 :30=12: 50  pANYIex 12:30=213:55
JAL 4406 14 : 25515 4 5| NARYIeS) 16:50=18:15
JAL 4408 20:00=21:20 JAL4407 18:05=19:30

Nz (@S REAR =g (BRE) 22(B& P8 (BREE) =RRA

:10=12:45

ANA 1868

P|15:15216: 45

NSERd P 11




